Direct Variation:

1. Suppose y varies directly as x and y = 51 when x = 3.
a. Write a direct variation equation that relates x and y.
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b. Find the value of x wheny =63
63 =7y
/7 ;‘7 X ~ .3 7

2. The distance a jet travels varies directly as the number of hours it flies. A jet traveled

3420 miles in 6 hotirs.
a. yWrite the direct variation equation:

k= =—=578 Z)/:57ﬂx7

b. How long will it take to fly 6500 miles.

L iob =370 /X: 1) ‘//»0,;7

570 57

c. How far will it go in 24 hours?
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Find 5 consecutive integers such that their sum is 820.
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Find the inverse ofi;(x) = —ix + 2. ’Graph both f(x) and f~*(x). ‘/)’ /27
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Energy vs Fat Content

3000

a \y= 64.385x + 454.64 l a a) Find the energy content of an item with a fat

g | — 2 e content of 23g. Is thisr extrapolation?
e Y =€7.385(23)t 54.L ¢

@ - = = '35 ‘! * Db)Find the energy content of an item witha fat

C)(‘ """""““’Jj 6{, content of 0g. Is this interpolation or éxtrapolation? ‘
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